
SAP ABAP table ANLW {Insurable values (year dependent)}

ANLW

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]

VRSLFD [NUMC (2)]

GJAHR [NUMC (4)]

ANLA

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

ANLN2 [CHAR (4)]
 ANLW-ANLN2 = ANLA-ANLN2 1..N

1

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 ANLW-ANLN1 = ANLH-ANLN1 
1..N

1

T000

MANDT [CLNT (3)]

 ANLW-MANDT = T000-MANDT 

1..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 ANLW-BUKRS = T001-BUKRS 

1..N

1


